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XII - MATHEMATICS TENTATIVE ANSWER KEY
PART — |
Q.No CODE-A CODE-B MARKS
1. @° 8 (a) 45° 1
2. e 31Ta (d) 8 1
3. (a) 10 @) g 1
4. (d) 2 (a) 10
5. d)8 1
(@ (@) 7
5 @ [a B, 7] =0 (c)-4 1
[EERICE=EY () (0) = 1
8. (b) y 0 ( d) 3mat 1
9. (d) (c) (d) adj(AB)=(adjA) (adjB) 1
+1)2
10 [ @xy @) @) [a B 7] =0 L
11. (C) 2 (C) (d) ay = 1
12. (d) parabola (c)2
13. (©) [g :ﬂ (d) parabola
14, (a) 45° (d) 2
15. 1 5 =2
©) 5 ©; ]
16. (b) —4 () x*+y* 1
17. (@)0 (b)y=0 1
18. | (c)2 ()0 1
19. (d) adj(AB)=(adjA) (adjB) (c)2 1
20. -4 1
(c) (d) 1)2
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21. ;
"
Zn =1 )
22. | 42 4 go= ‘_3 252 = 169 1
4x%+3x+169 =0 1
23. df=(2x + 3)dx 1
=0.18 1
24. y=mx ; Z—zzm 1
— v
y =X 1
5
25 | mean = flz 2x(x— 1)dx = 3 2
26. | (x+3)*+(y+4)°=9 1
x> +y2+6x+8y+16=0 1
27. 3 |- 1
| 4 —7|_ >
p(A)=2 1
28. i 10w e — 63T 2
J@ sintOxdx = =
20. . x2-3x+2 _ 2x—3 1
lim, 1 s = M 5
_1 1
2
30. 2 -1 3 1
1 -1 0f[=0
3 -1 6
~The given vectors are coplanar 1
PART — 111
31. Let, cota = ! 1
N |
seca=x; a=seclx 1
cot'l(J)%): seclx 1
32. -1
y=—7 (x* 4+ 6x +5)
d -1
% = —4 (Zx + 6) 1
m=-2
Equation of tangent:2x+y+1=0 1
1

Equation of normal: x-2y-7=0
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33. ]WWWP]dd szga let www.Trb Tnpsc.com
LHS= 1 T‘ b, ¢]=0 5
-1 0 1
[a—bb-¢¢&-3]=0 1
34. W2(P4y?) 3
U(AX,Ay) Ay A2u(x,y)
n= 3 1
B ler’s theorem: a_+ ou 3u
y eule eorem: X_—+y—- oy 2 2
35. X+y=12=y=12-x
p=xy =x(12-X)
p’(x)=12-2x=p’'(x) =0 1
X=6 1
p’’(x) =-2<0, p is maximum.
.'.X=6‘y=6 1
36.
(s _ 1 Ay
I—fg W dx 1
8 tanx ________ 1
= fs 1+M 2
From 1+2
|:E 2
8
37. 1+\3 /1-1\3_ .. 2
() () =+
=-2i 1
38. dy _ dx 1
f1+y2 _f1+x2 2
tan™y = tan™x+c
39. X 0 1 2 3
| L | 2 | 3 | L :
8 8 8 8
40. Al =-1 1
ladj(adjA) [=[4] D =(~1)*=1 2
Note: Any other method
PART - IV
41.(a) | Rough Diagram 1
. . (39
Point of mtersectlon—(2 , 4) 1
m;=3 ; my,=-3 1
—tanl(3 2
B=tan (4)
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41.(b) < P‘adgsale)Neﬁ www.Trb Tnpsc.com 1
tan x+1
1_(x 2)(x+2) 4
(x—1) (x+2)+(x+1)(x—2) _ 2
(x—2)(x+2)+(x+1)(x—1
2x2- 4=-3=X=+— 2
V2
42.(a) X 2 4 6 8 10
1 4 10 12 9
) | = | = | = | = | = 2
36 36 36 36 36
(0 ,if —co<x <2
L if2<x<4
36
~ if4<x<6
FO)={ it 2
— if6<x<8
36
~ if 8<x <10
\ 1 if 10133 X < 0
P(4§ X < 10): 15 1
42.(b) (22+1)_2(x+iy)+1 1
iz+1 _i(x+iy)+1
Im (M): 2
(1—=y)+ix
2y(1—=y)—x(2x+1) _ 1
(1=y)24+x?
2X2+2y*+x-2y = 0. 1
43.(a) | Rough Diagram 1
5
r==—h 1
112 5 5 1
V=2n(=h) (S h)h
awv_25° 5 dh 1
E_ mTCXh XE
&~ 2 mimin 1
dt 10x
43.(b) | Diagram 1
OP = cos ai+sin af
0Q = cos Bj +sin Bj 1
. i j ok
0Q X OP =|cosB sinf 0
cosa sina 0
=k(sina cosB-cosasinf)..... (1) 1
By definition
0Q x OP =|0Q||0P|sin (@ —B) k =sin(a—P) k.. ... (2) 1
From (1) and (2)
sin (@ — B) =sina cos - cos a sin 3 1

SHRI VIDHYABHARMN EHMAMBRSEC. €N CUSSAKKARAMPANAME 9pesksaarzet@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

44.(a) | Rough DjagfaM dasalai.Net www. Trb Tnpsc.com 1
X = - day 1
az? '

10
It’s passes through,(x,-7.5)
2 _ 9
X =-4 (E)y 1
X1 = 3\/§mt 1
44.(b) P= l, Q =sinx 1
X
|.F=e/pdx = x 1
xy =[ xsinx dx+c 2
XY=SiNX-XCOSX+C 1
45. d d
>(@) XD kx> x = celt 1
dt dt
t=0 ; X=Xg=C=Xo 1
kt 1
X=Xoe 1
t=5 ;: X=3x,=e’X=3 1
t=10 ; X=9x,
45.0) | =2t + 2j+ k;b =20+ 3] +3k;d =31+ 2]+ k 1
Parametric form
7= (21 + 2]+ k) + s(21 + 3] + 3k)+ t(31 + 2j + k)
(or) non Parametric form 1
7.(31—7j+5k) = -3
Cartesian form 5
x—2 y—2 z-—1
2 3 3 |=0 1
3 2 1
3X-7y+5z+3 =0
46.(a) | Diagram 1
. a _ ab
The required Area = 4 [" ydx =4 [’ =Va® — x* dx 1
4b | x a’ x|
= —|=Va? =2 + —sin™? (—) 2
a |2 2 a’ |,
=mab s.units 1
46.(b) | Equation of parabola:(y — 2)?=8(x — 1) 2
Vertex:(1,2) i
Focus:(3,2) 1

Equation of directrix: x+1=0
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47.(a) www.Padasalai.Nét www. Tri(Frpv. g
“-p | - “p)V ~q)V
T T T F F T T T
T Fl F F | T F T F 4
F T F T | F T F F
F F T T | T T T T
From column (3),(8) 1
p=a=((+)pVa)A((+)avp)
1
47.(b
) A=-15 1
AX =-15 1
AY = -5 1
AZ=-5
(X,Y,2)=(1,3,3)
(WITHOUT CHOICE)
. Total Book Back | Interior/Creative Total
PART | Questions Questions Questions Questions Marks
I 1 Mark 20 16 4 20
I 2 Marks 10 9 1 20
1 3 Marks 10 9 1 30
v 5 Marks 14 12 2 70
Total Marks 121 19 140
Percentage 86% 14% 100%
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